
Reação 1,4: é a reação de adição que ocorre no alcadieno conjugado. O mecanismo da reação é dado 
a seguir: 
 
 
    1º etapa:   Br – Br            Br +   +   Br –               (cisão heterolítica) 
 
    2º etapa:   H2C = CH – CH = CH2   +   Br +                 H2C – CH – CH = CH2   
 
                                                             
    3º etapa:   H2C – CH – CH = CH2                H2C – CH = CH – CH2        (ressonância)  
 

 
    4º etapa:   H2C – CH = CH – CH2   +   Br –                     H2C – CH = CH – CH2   (reação 1,4)            
 
 
 
    Reação Global:   H2C = CH – CH = CH2   +   Br – Br                  H2C – CH = CH – CH2    
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